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. Decomposing data Using iNZight .
(Merit) Decomposing data separates it into the Trend, Seasonal, & Residual component.

The relative influence of each of the components (as a percentage of the overall variation can be investigated.
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What is the total variation of the Data? (over the time period)
What is the Seasonal Component (% of the total variation of the Data) 
What is the Residual Component (% of the total variation of the Data)

How do these compare?

A good model has a small(ish) residual component.

Residuals - Are there any unusual observations - do they warrant further investigation.
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.     Decomposing Calculations    .
Total Variation?
13 000 visitors

Trend

 Component?

5000/13000
     = 38%

Seasonal

 Component?

8000/13000
    = 62%
Residual
 Component?
2000/13000
    = 15%

Comparison? These are VERY general calculations (note total isn’t 100%)
The Seasonal Component is causes most of the variation in number of visitors from Germany (remember the context)
The Residual component is small so a linear model is appropriate (predictions)

. More Complex Situation .
Total Variation?
8 000 visitors

Trend

 Component?

3500/8000
     = 44%

Seasonal

 Component?

4000/8000
    = 50%


Residual

 Component?

2000/8000
    = 25%

Trend & Seasonal cycles contribute about the same amount of variation to the number of visitors from Japan. The residual component is more significant, and note the variation in the residual – reducing in 2004-5 then increasing recently.
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